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Instructions

Reading time ~ 5 minutes
Working time -~ 70 minutes

All questions should be attempted.

Show all working.

Start each question on a new page.

Marks will be deducted for careless work or poorly presented solutions.
On the cover sheet of the answer booklet clearly show:

N o U e

a) your name
b) your mathematics class and teacher
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Question 1: (9 Marks) — Start A New Page Marks
2 . b
Sl (5x3) x 2x ZM
a) implify: Toxt I 2
-~ . s .
Sy X
- - . (,‘ .
3.07x1072 AN
b) Evaluate: ——=——= correct to 2'significant figures. 1
V2.5%102 8
ve: 2t 42 =1 | 2
c) Solve: - +2 = >
d) Solve: 5—2x<3 2
e) Simplify: (2a — b)(2a + b) — (2a — b)? Lok -26 * 2
2b (26 -b)

Question 2: (9 Marks) - Start A New Page Marks

a) Change the subject of these equations to the pronumeral given in the brackets.

(V= é—bﬂ 2
/ L4
v(%+u> — LA 2

vErvly = EB-U

v & v W Tl = £ -

b) Arrange in ascending order of size: /57\;( (/¢ ct %
e - '

s 26 ‘
{0.251, 25%, 025, 2} vu+U = E-vE - 1
u(‘\f“fﬂ'\,:‘: Efi=V)
. e (-
c) Solve for x: W= w
("\{"ﬁ"f{ 3
(i) x*=3x 2

(i) 4x*—9x+5=0 2
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Question 3: (9 Marks) - Start A New Page Marks
- . ——— R ,.-ls’=?(
. o +Z 2
a) Simplify: V32 — 3V18 + 2V8 - r/ Ex 4 5:_/517)/ g "/‘H( 2

= G ~ )2+ 42
7 -9 [

b) Find the value of p if: V45 —v5=/p 2
_ 247 +7
c) Rationalise the denominator and write in simplest form 3Vid 2
2747 M 2oz + 2T
: s = N
STl e 3t = 2/2 Y
= WD 47T, 6
. . 1=V3 kel
d) Find the valuesof a and b i -1+—'\/§ =a+ b\/g O b rational 3
Question 4: (9 Marks) - Start A New Page | Marks
a) Factorise fully:
(i) x%2—10x+25 1
(i) 3g—15+5p—pq 2
] g L
Cwmsar T e :
1@l 4a® —3 Nk @F .
L z (é - & h ) (ff/\ £ )
(iv) 8x3+ 27 2

b) Express 0.57 as a fraction in its simplest form. 2
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Question 5: (9 Marks) - Start A New Page Marks

a) Is /6% rational or irrational? Give a reason. 1

243x  1-x _ _

b) Solve: > = ~ [Give your answer correct to 2 decimal places] 3
Simpli 2 o 2

c implify: —

) plify x-3 x2-2x-3

d) Solve for a and b: a+vb = (2 +V3)? PR SN b \“O.HO»’\(‘.\\ 3
Question 6: (9 Marks) - Start A New Page Marks
a) Without the use of a calculator show that 6v3 is greater than 46 1
b) Simplify:
2—-3p-10 -5
() P 4 -+ P 2
2p+4 2
x Y
N Y X
3
a =

¢) Solve for x by completing the square:

x% — x.— 5 = 0, give answers in exact simplified form. 3
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Question 7: (9 Marks) - Start A New Page

a) Solve these equations simultaneously y = = and x —y =2

b) Write the following in simplest form (do not use negative indices)

i 371x S—i—z—
@ (a+2)

c) Simplify

@

(ii) (x% — yé) (xé + x% yé + yg)

End of Paper

Marks



